4428 / External View

BMAZ / Components

[ x®&= : TY-34)2008.02.08

25X 5= 125

L _J
280
238
225
210
25x 5= 125
M _T\_
(>R lcoRETal Ne»)
RO~
== =
29.1 30
[ n
['l TS| ]
l I
i)
LN
7
L =M54Y4-hFoh 262.6

4-M5 Insert nut

No. Z# / Part name BE / Pcs B / Material - REWHE / Color- Finish
1 by THN—= / Top cover 1 AUn-8"%-p / Polycarbonate |3/M°b- / Light gray
2 |KT4 — / Base 1 N YD =N 32T74\" - I4NT b=
Glass fiber filled Light gray
polycarbonate
3 Ay b / Gasket 1 Y73y / Polyurethane 73v7 / Black
L |Zv F / Latch 2 A7YbA / Stainless steel O3B / Unfinished
5 [Effx—ZAAKA(MS x 10) L % ={@70x-h
Screw(M5 - 10) Steel Trivalent chromate
F=-h7)WF5—% / Technical Data
REZIK / Protection class IP65
ERAEE®EE / Operating temperature | -20C ~ +75C
Wit 2 5 2/ Flammability class UL9LV-0
130.5 2
30
) E— =r@___L_______L___@1=
75 1P ¢0oooe 0
1© Olls
1 OB
0o & 1H
Ne) H e o O
~N =| =
= m| D O O l:
o o5
:IO & 15
Hi© Ol
=| O O =
NI é o, S0 0000 gl
:‘!': :'!‘:
L-M54Y4-Kfyh
4-M5 Inserf nut IR
®
) 2% /Title N —
BARHS N FEHIR BA-pREAR T | © T
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 LATCH-HINGED POLYCARBONATE PLASTIC BOX
KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/Scale“*
. BCP(C282813S :
B PiR 172
fFB /Date  2018/10/01




[ x®&= : TY-34)2008.02.08

R$] / Internal View

AT 14— (RR) 73— (R1R)
Base (Internal View) Cover (Internal View)
2 130.5 280
| . .
7 N4 )
% ¢oo oo PO
© © :
@ © _
® ) E
o © < >
QO M
o @ @ =
@ @ P
& & 2
© © T
S vooleoe Ky =
I o ' “ @4
L-M548-NFoh L -M54 Y- kT ok
L-M5 Insert nut L-M5 Insert nut
D
m
£
e
>
[4”]
>
~ — E
ﬂ%{_ N &% /Title N —1
A == < - e
5 il oo HARIL SN FEHLE B 7K - B B B BISAA Y31 2-0T 5% 03 O L4
" : TAKACHI ELECTRONICS ENCLOSURE Co. LTD- IP65 LATCH-HINGED POLYCARBONATE PLASTIC BOX
AW /Max dim. 254 KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/Scale“*
R BCPC282813S :
8 1 > /o
fEstB /Date 2018710701




	BCPC282813S Model (1)
	BCPC282813S Model (2)

